(BAIER) gswizss:

Elektro- ID-Nr.: 8671

POS

=

werkzevge

IDNR BEZEICHNUNG
36855 TAPTITE SCHR.M5X25 DIN7500-C/II
14886 KONDENSATOR
25221 KNICKSCHUTZTULLE
24273 KABEL
49189 SCHALTER
20990 LINSENBLECHSCHR.3,9X16 DIN7981 GAL
17913 KABELBRUCKE
49064 HANDGRIFF
50260 EJOT DELTA PT 5X100 TORXPLUS GALV
46003 GETRIEBEGEHAUSE
22400 RILLEN-KULA 629
36954 VORGELEGEWELLE 97
37119 ZAHNRAD 297
12724 FLACHDICHTUNG
45971 ABTRIEBSWELLE
7401 RILLEN-KULA 6004 2RS
18580 DISTANZBUCHSE
38794 SICHERUNGSRING J 42X1,75 DIN472
37556 DISTANZBUCHSE
45997 ZAHNRAD 46Z
25817 MOTORDECKEL
40568 GUMMIPROFIL
38323 4-KT-SCHWEISSM. M8 DIN928 SCHW.ZN
22103 ZYL.STIFT 4m6X16 DIN7
42713 RILLEN-KULA 6201 2RS
21600 LUFTER
6481 ANKER 230V
5116 ISOLIERRING
22681 RILLEN-KULA 6000 2RS
36848 SCHUTZ-BUGELHANDGRIFF KPL.

11189 U-SCHEIBE A8,4 DIN9021-ST VERZ.
36897 1-6-KT-SCHRAUBE M8X40 DIN912 SCHW.
7756 EJOT DELTA PT 4X90 TORXPLUS GALV

LUFTLEITRING

45856 FELD 230V

8670 MOTORGEHAUSE KPL.

8669 TYPENSCHILD
45872 KOHLEBURSTE
52894 KOHLEHALTER A3
45625 KOHLEHALTERDECKEL
21030 EJOT DELTA PT 4X12 TORXPLUS GALV
76281 DREHZAHLELEKTRONIK
30221 LINSENBLECHSCHR.4,8X60 DIN7981 GAL
38497 DECKEL
32128 1-6-KT.SCHLUSSEL SW6 DIN911

MASCH

nur zusammen mit POS 36

inclusive POS 34

STAND: 2015.01
ERSETZT: -

PE PG
202
101
202
110
104
3 08
2 08
107
312
114
103
107
110
2 06
111
107
101
207
103
112
111
2 02
307
3 07
104
103
118
204
103
113
3 06
309
2 06

115

2 08
103
104
204
309
113
2 03
1 06
2 07

Maschinenfabrik OTTO BAIER GmbH, Heckenwiesen 26, D 71679 Asperg, Germany
Tel.: 07141/ 30320 Fax: 07141/ 303243

Seite 1v. 2



BAIER) ERSATZTEILZEICHNUNG ’

Schnellmischer BSMe88e2 ’

ID 8671

I
Stand: 2015.01 ersetzt - \/



